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sl WG gl Jelald syl sgiaoll (9 pcil wlwal yud Joild (lociwl
2S(s) + 302 () »250:3 @ AH=?KJ :Jclaill le9q Cupsli
S +02@ > SO2(9 AH=-297 KJ : uisleall olaiwl
2S03(9) > 2S02(0) +O2() AH=198 KJ

/- 2 9 sJUgil dJalcoll Upaj
2S(5)+202() — > 2S02(9 AH=2(-297 KJ) i
JS(QJZQL(%'Q%MK—J

| o.uUJI oJolecodl yusci
- 2S02(g) + 02 (9) 2S03 (9) AH=-198 KJ

Jilsleoll g0 -
2S5 #2020 > Eo:cg AH= -594KJ +
h’@e (9) + O2 (9) . 2S03 () AH=-198 KJ

2S(s) + 302 (g) > 2S03 @ AH=-792KJ
2 sJc oowalU adolcddl b -

Se) + %02 (9) l SO3@ AH=-396 KJ




N elaU AH 2Y b sa ulslall femca! .32

H*ECG{E} —+ c}ll:g:! — ECC}E(E) AH = -566.0 KkKJ
b.Ng{gj —+ G:EE} — ENﬂ(g} AH = -180.6 kJ

:




N elaU AH 2Y b sa ulslall femca! .32

H*ECG{E} —+ c}ll:g:! — ECC}E(E) AH = -566.0 KkKJ
b.Ng{gj —+ G:EE} — ENﬂ(g} AH = -180.6 kJ

( D s Jgill dlalcall -

2CO (9) +©2(9) =——p 2CO2(g) AH=-566.0 KJ ,
+ sl aJsleodl gusei -

2NO (9) — Nz (g) + Oz (g) AH= 180.6 KJ Jiibsleall pani -

2CO(g) + 2NO(g) =P  2CO2(g) +N2(g) AH=-385.4 KJ
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4Al,, + 3MnOy,, — 2AL,0s + 3Mn, AH = -1789 kJ
3.4.;‘5!.1(5:, + 302@) — 2:"‘112 03{5} AH = -3352 kJ
b.Mll(s:l + Gg,:g:, —* MHOE,ES) AH =7




b lelall AH 512 Y a dsladl e &5 Lexzuls = 1789 KT Y folisl] AH 205 ilS 15 juanid 33

4Al,, + 3MnOy,, — 2AL,0s + 3Mn, AH = -1789 kJ
3.4.;‘5!.1(5:, + 302@) — 2:"‘112 03{5} AH = -3352 kJ
b.Mll(s:l + Gg,:g:, —* MHOE,ES) AH =7

f 4aAl (s) %(g)—» 2Al203(s) AH=-3352KJ SO o5 (Joll dJoleadl -

3 9 e rig 6uilidl 8Joleoll gusdci -
MnO2(s) — 3Mn(s) +3Q2(g9) AH= 3 xKJ

Jilsleodl g0y -
4Al (s) + 3 MnOz2 (s) === 2Al203 (s) + 3Mn (s) AH=-3352 + =-1789 KJ
=-1789 + 3352

=1563
=521 KJ
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—273
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EHE'[EJ i E}'E{E]—"HF[E]‘
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s) + 5 02(g) — 503z

S(s) + 3F gy — SFgg)



A LGN (298501 3 50
S o Ny sttt AH 2-14 4 <20

e +33.2 S 08 B 8 L L NDI—"EH.:

ARl pe 33.2k] aliatal @i NO3 (e asl
Nifg). Oufg). S(s) e = - (o oty Ty

ade Lol .33.2kf/mol caba NO, JAH § pla 10

HMSGJHJ}'!J&HJ_IJE'DJESJ_ELH

£3lws 803 JAH oLl a sl oy 2396 K]
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=
T
I

369 k] /mol
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Hy o3 O —HiOy
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'-r.I:HH'_-;ig_| + T{};g[g) — "]:N{J_[ﬁ'| + E']-_IE{JIJ:'




aalt
Ag(s)
AgClis)
AgCN(s)
Al;04
BaCl;(aq)
BaS0,
Be((s)
BiCl4(s)
Bi;5;(s)
Bry
CCly(l)
CHslg)
C;H;(g)
C;H4lg)
CaHe(g)
CO(g)
CO,(a)
C5(0)
Cals)
CaCO4(s)
Cal(s)
Ca[OH ),(s)
Clalg)

Co 30 4(8)
CoO(s)
':I’:D ;I[S:I

Al gl and 095001 3yl po i

(1M (5 gluuws 51 g1f 0061 2SI LIUautl 3uS1,5) AHE (ki/mol)

o
CsCl(s)
Cs ISD 418
Cul(s)
CuSis)
Cu45(s)
CuS0,4(s)
Falg)
FeCly(s)
FeOl(s)
FeS5(s)
Fe }U‘ 3(8)
Fe 3 0 4{5}
Hig)
Ha(g)
HBr(g)
HCl(g)
HCl{aq)
HCN(aq)
HCHO
HCOOH
HF(g)
__Hiia)

AH;
—443.0
14430
—67.8
=531
795
774
0
—30949
—272.0
—=100.0
-824.2
-11184
218.0
0
-363
-023
—167.159
108.9
- 108.6
-4250
2733
26.5

galy)
H3PO4(aq)
H3504(aq)
H3504(aq)
HgCl4(s)
Hg ;'El;ﬁ}
Hg ;50 4(s)
I5(s)

K(s)

KBr(s)

KMn O 4(s)
KOH
LiBr{s)
LiOH(s)
Mn(s)

MnC |;(aq)
Mn(N O 3);(aq)
Mn O 4(s)
MnS(s)
N3(q)

Fal L
NaBr(s)
NaCl{s)
NaHC O 4(s)
NaN O 4(s)
NaOH(s)
NEIEG 3(s)
Na;5is)

Na ;5{}4{5}
NH,Cl{s)

0;(g)

NH (g}

H,0()

—2858

NH 4Br(s)
NO(g)

H;0(g)
H,0,()
H3PO )

-241.8
-187.8
—5954

NO;(g)

Ma(s)

P40 gls)
P40 10(s)
PbBry(s)
PbCl4(s)
SFelg)
50,(9)
503(g)
5rO(s)
Ti0;(s)
Tiis)
UC!4(s)
UCIg(s)
n(s)
InCl;(aq)
Zn0(s)
£n50 4(s)
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4NHH{E—E.‘ + T{}E[F” — 4N{J_[ﬁ1 '|" E‘HE{JHJ

AHF° NO5(g) , AHF°® NH(g)
AHF° H;00) AHF 0,

¢= AH°rxn
AHorxn=ZAHfo (products) ™ ZAHFO (reactants)

[AAHF°(NO,) + 6AHF°(H20)] - [4AHF°(NH3)+ 7AHF°(O2)]
[(4X33.2) + (6X-285.8)] - [(4X-45.9)+ (7X0)]

[(132.8) + (-1714.8)] - [(-183.6) + (0)]

[-1582] - [-183.6] = -1398.4 KJ
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C.H.COOH,;, + 505, — 4CO0 s + 4H,0,) c 2k 5 o)l Lk AH - 1> 41,36

cormh
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4Cn+ 4Hyy + O,

2(g)




aalt
Ag(s)
AgClis)
AgCNis)
Al,04
BaCly(aq)
Ba50,
Be(X(s)
BiCl5(s)
Bi,S5(s)
Br;
CCla(l
CHslg)
C;Hy(a)
C;Hq(g)
CaHelg)
CO(a)

C5;()

Ca(s)
CaCO;(s)
Ca0(s)
Ca{OH )(s)
Cla(g)

Co 30 4(8)
CoO(s)

Cr 1':-' ;I[S:I

algdt ‘_ma.gu.iﬂi E_Jl_;.:-ﬁ,_&

(1M (g ghaws 31 g1 aig? AU (Ll 3u81,5) AHE (kI/mol)

aal1!
CsClis)
Cs 250 4(5)
Cul(s)
CuSis)
Cu45(s)
CuS04(s)
Falg)
FeCl(s)
FeOl(s)
FeS5(s)

Fe ;}U‘ 3 [5}
Fe 3 0 4{5}
Hig)
H3(g)
HBr(g)
HCl(g)
HCl(ag)
HCN(aq)
HCHO
HCOOH
HF(g)
Hiig)

~1443.0
—6/8
—53.1
- 79.5
-71714
0
—399.49
—-272.0
—100.0
—-B824.2
-11184
218.0
0
-36.3
=923
—16/.159
108.9
-108.6
—~4250
—-2/33
26.5

H,0()

—2858

H0(g)
H;0 ;)
H3PO ()

-241.8
—-18/78
~5954

aall)
H3PO4(aq)
H;504(aq)
H3504(aq)
HgCls(s)
Hg ;'El;l'ﬁ}
Hg,50 4(s)
I5(s)

K(s)

KBr(s)

KMn O4(s)
KOH
LiBr(s)
LiOH(s)
Mn(s)

MnC I;(aq)
Mn(N O3);(aq)
Mn O5(s)
Mn5(s)

N, ()
NH1(g)

NH 4Bris)
NO(g)
NO;(g)
N,O(g)
Na(s)

sal
NaBr(s)
NaCl(s)
NaHC O 4(s)
MNalN O 4(s)
NaOH(s)
NE]EU 3(s)
Na;5(s)

Na ;5{}4{5}
NH 4 Cl(s)

0,(a)

F4Ogls)
P40 10(s)
PbBry(s)
PbCl4(s)
SFelg)
50,(9)
505(g)
SrO(s)
Ti0,(s)
Tiis)
UC!4(s)
UClg(s)
n(s)
InCl;{aq)
Zn0(s)
£n50 4(s)




i b s
CsH,COOH,j, + 50,5 — 4CO 50, + 4H,0 et G o)) oo AH__, A= 4.36
::Ill.;-:lT E:jlﬁ_{:_h v'-l.rl.;"-ln.l.ll.llJ u.,._u)s:.".lll E-':'ll..-';- F-"-l'— .,,_,!I_.!.fl_':-r.rl Il.:.'.i':.._-l

4Cn+ 4Hyy + O,

2(g)

F AHF° 0:09) AHF° C3H,COOH = -534 KJ

AHF° H;0() AHF 009 0

¢= AH°comb

AHorxn=ZAHFo (products) - ZAHFO (reactants)

[AAHF°(CO,) + AAHF°(H20)] - [1AHF°(C3H7COOH )+ 5AHF°(02)]
[(4X-393.5) + (4X-285.8)] - [(1X-534 )+ (5X0)]

[(-1574) + (-1143.2)] - [(-534) + (0)]

[-2717.2]-[-534] =-2183.2 KJ




